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QUESTION 1

To prevent inter-area routing loops, OSPF does not allow advertising routing information between two non-backbone
areas and allows sing routing information only within an area or between the backbone area and a non-backbone area.
Therefore, each ABR must be connected to the backbone area. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 2

In a route-policy, which of the following BGP attributes can be used in apply clauses? 

A. MED 

B. AS_Path 

C. Tag 

D. Local-Preference 

Correct Answer: ABD 

 

QUESTION 3

Which of the following statement regarding the display ospf peer command output is true? 

A. Address: 10.1,1.1 Indicates that the local interface address is 10.1.1.1. 

B. Through negotiation during DD packet exchange, the local end becomes the slave. 

C. Router ID indicates that the local router ID Is 10.1.1.1. 
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D. The DR address is 10.1.1.1 

Correct Answer: A 

 

QUESTION 4

In BGP, the origin attribute of the routes imported using the import-route command is incomplete. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 5

Which of the following statements regarding the stateful inspection firewall is true? 

A. When the stateful inspection firewall checks packets, packets of one same connection are not correlated. 

B. Because UDP is a connectionless protocol, so the stateful inspection firewall cannot match UDP packets with the
status table. 

C. The stateful inspection firewall only needs to match the first data packet against a rule, and the subsequent packets
of the connection are matched directly in the state table. 

D. The stateful inspection firewall needs to match the rules for each incoming packet. 

Correct Answer: C 
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